RACE # 14 SEQUENCE & SERIES MATHEMATICS
1. If t, denotes the nth term of the series 2 + 3 + 6 + 11 + 18 +... then t,, is
(A) 492 -1 (B) 492 (C) 502 +1 (D) 492 + 2
2. Let x =1+ 3a + 6a®> + 10a® + .............. lal < 1, y =1+ 4b + 10b% + 20b3 + .............. bl < 1
Then S =1+ 3 (ab) + 5 (ab)® + ......... in terms of x and y is
) 1+(1-x"¥)a-y ¥ B 1+ L+ x )L +y ¥
- a-x)a-y™y - @+ x P+ y ™Y
(©) L+ (X )-y Y (D) None of th
= = one of these
L+ @-x)a-y ™y
s gpl,l 1 P S S S
. I + 2 + 32 +oo upto o = 6 then, I + 32 + 52 +..0=
n? n? 2
- - . 2
A % ®) % © % D) =
4 Th f infinite t f th i ! + 2 + S +..90 is:
. e sum of infinite terms of the series il o222 T 1a3es is :
A l B l O 1 D l
) 3 B) (© ®) -
5.  The sum of the series 1.3*+ 2. 5+ 3.7°+.... upto 20 terms is
(A) 188090 (B) 180890 (C) 189820 (D) None of these
6 Th f i —+ > + ! + ? +.o. t t 1
. e sum of series Pt P Py Paravaa 0 n terms equals
6n 6n n+1
(A) ol (B) 7l © 7l (D) None of these
e ) 2 3 4 .
7. Sum to infinite of the series 1 +g + 5—2+5—3+ ... 18
(A) 5/4 (B) 6/5 (C) 25/16 (D) 16/9
8. The sum of the infinite series —+—= +—=+... is equal (o :
. e sum of the infinite series TERT AR is equal to :
o L 5 10 ol 017
) 5 ®) 3 © 3 ®) —
2
. 1 1 .
9. The sum of the series, 1+2- 1+H +3- 1+H t+.... o is (where Inl > 1).
1 2
(A) n? (B)n(n + 1) ©) D[I+Hj D)m+1)(n+2)
. . . . 1 2 3 4 .
10. Sum of infinite terms of the series §_7T+5—3_77+ -------- is
Ay 2L g 22V o) = D) None of th
A 1152 ®) 1511 © 30 (D) None of these.
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If the sum to infinity of the series 1 + 4x + 7x% + 10x® + ... is I then find x.

A l B Q C E D) N f th
(A) 3 ®) © 5 (D) None of these
The sum of 0.2 + 0.004 + 0.00006 + 0.0000008 + ... to o is
Ay 20 g 2000 o) 1000 D) None of th
A) o1 B) 901 © 3801 (D) None of these
. 1 + 1 + 1 + +; .
The sum of the series log,4 log,4 log,4 10g2,, 4 18
A n(n+1) B n(n+1)+(2n+1) C 1 D n(n+1)
8 = (B) > © a(ns1) D) —
Th finity of the series —— 4+ — 4 4 —1_
e sum to infinity of the series 2.4+ 4.6+ 6.8+ 810 F o, is
(A) 1/4 (B) 1/8 ©) 12 (D) 1/16
The sum of i.1+_.[1]2 +i[1]3+ o
€ sum o 2327533 3.4\2 --to n terms is equal to
TP S 1 1Lt
(A) —(n )2 (B) I_W (@) +(n )2 (D) none of these
The value o = 0 —50° +4n is equal to
oL . oL oL
()120 ()96 ()24 ()144

% 1
The value of rZ:l“«/aHx +ya+(r-1)x

n Ja+nx —+a n(va+nx —a)
(&) Ja —a+nx ®) X © X

1S

(D) None of these

If th y ! Ja b h b N and lie in [1, 15], th b al
the sum k=l(k+2)«/E+k\/k+2 = «/E where a, b, ¢ € N and lie in [1, 15], then a + b + ¢ equals to
(A) 6 B) 8 ©) 10 D)11
1 1 1 1
The value of ' ' ' +..0 equals

135 357 579 911.13

1 53 35 35

(A) 12 (B) 249 © 19 (D) 249

© 6k
The value of kzz; (3k _2k)(3k+1 _2k+1) is

A1 (B) 2 ©3 D) 4



Answers

RACE # 14
1. (D) 2. (A) 3. (B) 4 (A) 5 (A) 6. (A) 7. (C) 8 (B) 9. (A) 10. (A)
11. (A) 12. (B) 13. (D) 14. (A) 15. (A) 16. (B) 17. (B) 18. (D) 19. (A) 20. (B)
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